Consolidation work 18 Second Level ***
1.  86 – 2.4 – 14.9

2.  45/50

3.  46.86 x 100

4.  15% of 140 

5.  3/9 of 63.18Kg

6.  Write 0.07 as a fraction and a percentage. 

7.  34Kg = ___g?

8.  4 in every 7 goats are male. There are 14 goats altogether. How many are male and how many are female? 

9.  Simplify 15:24

10.  £67.43 - £25.79

11.  Round 165. 5673 to three decimal places

12.  -6 – 13

13.  4m + 2 = 14

14.  What do we call an angle that is 240 degrees? 

15.  What is the square root of 36?

16.  Find the area of a right angle triangle with: length 9.4cm and breadth 3cm?

17.  Order from the biggest to the smallest: 3/100, 0.30, 3.03, 3.1, 37/100, 0.07

18.  A phone costs £34.99. A Mum buys one for each of her 3 children. How much did they cost her in total? 

19.  7198 + 1067
20.  6003 – 5991 
